Name: ______________________

Section: _____________________

EE331 Homework PS6 – fall 2012

Problems from Alexander & Sadiku: 
CH6
· 6.13 

· 6.20 (Ans:  1.333 microF)
· 6.46  (iL = 2A, WL = 1J, WC=0J)
CH 7
· 7.40 ( Just part a) – Also, graph the result – (Ans: 12V and  (4 + 8*e-t/6) V)
· 7.56 – (hint:  first find i(t) through the inductor, then use the relationship from Chapter 6, equation 6.18 for inductors) – Ans:  v(t) = -4*e-20t V
Additional Problems (Instructor Option): 

· 6.74 (hint:  read section 6.6.2 on pgs. 235-236) – What type of operation is accomplished?
· Any as assigned by instructor
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